
Load - 1.5kN
Max Allowable

THIRD ANGLE PROJECTION

ANGULAR DIMENSION TOLERANCES (ISO 2768 - FINE) EXT. RADIUS / CHAMFER HEIGHTS (ISO 2768 - FINE)

NOM. DIMENSION 0 TO 10 10 TO 50 50 TO  120 120 TO 400 NOM. DIMENSION 0.5 TO 3 3 TO 6 OVER 6

TOLERANCE ±1° ±0°30' ±0°20' ±0°10' TOLERANCE ±0.2 ±0.5 ±1.0

GENERAL TOLERANCES (mm) UNLESS SPECIFIED

LINEAR DIMENSION TOLERANCES (ISO 2768 - FINE)

NOM. DIMENSION 0.5 TO 3 3 TO 6 6 TO 30 30 TO 120 120 TO  400 400 TO 1000 1000 TO 2000 2000 TO 4000

TOLERANCE ±0.05 ±0.05 ±0.1 ±0.15 ±0.2 ±0.3 ±0.5 -

M
ax

 A
llo

w
ab

le
Lo

ad
 - 

5k
N

Lo
ad

 - 
2k

N

M
ax

 A
llo

w
ab

le

1

2

3

4

5

6

7

6

8

9

10

12

11

 P
le

as
e 

Sp
ec

ify
 

St
ee

l T
hi

ck
ne

ss

 P
le

as
e 

Sp
ec

ify
 G

la
ss

 T
hk

. 
G

la
ss

 R
an

ge
 1

0-
21

.5
m

m
 T

hk
.

 3
2.

4 
 4

8
6 

 20.0 

 50.0 

Loctite Type 243
All threads during
site installation
(By Others)

Articulating ball
Allows ±7.5° rotation

Loctite Type 243
Parts 9 & 10
During Manufacturing

Thru hole in glass:
min: 31.8 mm [ 11/4"]
recommended in laminate: 

34.9 mm [ 13/8"]
max: 38.1 mm [ 11/2"]

TOP / PLAN VIEW

** NOTE: 4mm PIN SPANNER TOOL REQUIRED FOR INSTALLATION **

EXPLODED VIEW

ISOMETRIC VIEW
SCALE 1:1

REV. DATE DESCRIPTION DRAWN BY CHECKED BY
0 2011.DEC.05 INITIAL RELEASE JH

R1 2012.FEB.08 FRONT CAP CHANGE & REDESIGNED

R2 2016.APR.22 LOCTITE TYPE 243 NOTES ADDED

R3 2021.DEC.20 DESIGN CHECK & 3D MODEL UPDATED VK AS

ITEM PART DESCRIPTION MATERIAL FINISH QTY.
1 AB1a-P06 BACK NUT Gd 316 SS MACHINED 1

2 FW M12 WASHER, FLAT, M12 x 24 OD A2-70 EX WORKS 2

3 W M12 LOCK WASHER A2-70 EX WORKS 1

4 HN M12 NUT, HEX, M12 A2-70 EX WORKS 1

5  AB1b-P02 Dia 50mm BACK PLATE Gd 316 SS FINE MACHINED 1

6 AB1b-P07 GASKET - OD50 ID25.4 x 0.8 THK. CG605-FIBER-
GREY

EX WORKS 2

7 AB1b-P05 FERRULE - OD28 ID25 x 11.5 THK. NYLON-BLACK MACHINED 1

8 AB1b-P04 M12, SPHERICAL THREADED STUD Gd 316 SS MACHINED 1

9 AB1b-P03 CUP THREADED INSERT G316 SS MACHINED 1

10 AB1b-P09 ARTICULATING BODY Gd 316 SS MACHINED 1

11 AB1a-P08 RUBBER INSERT EPDM EX WORKS 1

12 AB1b-P01 Dia 50mm FRONT PLATE Gd 316 SS FINE MACHINED 1

UNIT 105-8218 NORTH FRASER WAY, BURNABY, BC, V3N 0E9
TEL (604) 231 5892       WWW.STELLAGLASSHARDWARE.COM

1:1

AB502TM6S21010

Paper size 11"x17"

SCALE

DWG No 

This drawing is the property of Stella Custom Glass Hardware Inc and may not be copied or reproduced in any way whatsoever without written permission of that company

ASSEMBLY DRAWING - SKU #AB502TM6S21010

ARTICULATING GLASS BOLT - AB502T: 50mm [2"] DIAMETER w/ TAPERED FACE
(INCLUDES MACHINED BACK NUT, WASHERS, HEX NUT, GASKETS & FERRULES)


	Model
	Drawing View13
	Drawing View14
	Drawing View15


